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11. x = —%

12. -3abe

13. i—%

14.12

15.1:2

16.%@:(1)Jﬁﬁ:ﬁ+ﬁ (243)
R (345)
:%; (441)
(2) )5 =(2020-1) x (2020 +1) -2 020° (24%)
=2 020 -1° -2 020° (341)
= -1 (473)

17. f#: (1) )5 = - b(4d® —4ab +b*) (241)
= —b(2a-b)%; (493)
() FEX =m®> -2m +1 +2m -26
=m?-25 (351)
=(m+5)(m-5). (571)

18. it JRZ =2 +2xy — 20y —2y° (3 43)
=x" -2y, (547)
Mw=5,y= -3,
Jis = (V5)% -2 x (-43)? (6 73)
=5-2x3 (841)
- 1. (941)

19.f#: (1) (x—y)>=( =3)",.. 5" =2xy +y° =9.
Mecwy==2,0 (x+y) = (& =20y +9°) +4ay =9 +4 x ( =2) =1; (241)

Xy =x" =2xy +9" +2xy =9 -4 =5, (445)



(2) (m+n-p)>=(-10)>=100,E0[ (m -p) +n]* =100,

so(m=p)* +2n(m-p) +n° =100,

S (m=p)?+n* =100 =2n(m -p) =100 =2 x ( —=12) =124.
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21 i (1) R BB ] & =8, fift 4 .x = 2.
SRR R 2
(2)2
No

(3) HEUE A, b =42 -1,

Sb+2=241,00(b+2) = (V2 -1) (V2 +1) =(2)*-1"=2-1=1.

[T b(b+2) =b" +2b=(2-1)>+2(2-1) =(R2)" =22 +1+22-2=1.] (1

22. it (1)1
() ZT & +3x° -3x+k I —PHE R (8 +ax +b)

MW x® +3x" -3x+k=(x+1) (x> +ax +b) =2 + (a+1)x" + (a +b)x +b,

Sa+l1=3,a+b=-3k=b,".a=2,b= -5,

k= -5

() a* +20 +1 = (" +x+1) (2" —x+1).
23. (1)1 <AD <5

(2) WKL EK AE,DC 2 F 45 F.

“*AB//CD,.. L BAF = LF.

TEAABE FMIAFCE |

*CE=BE,/BAF =/ F,/AEB = £/ FEC,

. AABEx2 AFCE(AAS) .. CF =AB.

" AE J& £ BAD W41k, .. £ BAF = £ FAD,

. LFAD = L F,. . AD = DF.

> DC +CF =DF .. DC + AB = AD.

(3)DF =3.
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